University of Sargodha

B.A/B.S¢ i Annual Examination 2007

Applied Mathewmatics Paper- A

Time Allowed: 3 Hours

Maximum Marks: 100

_Note: Attempt six questions in all. selecting two questions from each section.

Q.1. (1) Solve the differential equatin. QRetyt Pyedx + (A + 2y - Dy = 0 E)E:j/‘)/Z/)r(()) C/A—,—?
(b) Solve the differential equatisn. (- L -xhp-x(y-D=0 Q-7 ﬂgfga% }8 Pt
| nE ket
Q2. @ Solve the initial value problzm. (x* + l)%+4xy =x, p2)=1 R EXT6 D oo/
400 fish at ume { = 0 (month), (8) o

(b) A newly built fish farm 's stocked with
/0 °t’/,"€ feese

thereafter the population i-1areases at the rate of \/}» per month, when these are

p fishin the farm, what is te fish population at time ‘17 — ,' .
2 2 3 @,« ’ g{- ?.y

quat on. By + dxy )dx + (2x + 3x"y)dy = oc 7 /‘& Kot

)’"—3y’+2y=2x’ voxer 86 (SX10:D  (8)nc e

(9)

Q4. @ ' dly  dy e’ |
Find a particular solution « f following. L 4= +dy=-— , ' (p -
P l & dx? dc = l+x AB:$ B% (0

Q3. (@) Solve the differential ¢
(b) Solve by methad of 11.C

(by Apply the Power erics Method to  solve the differential  (8)

al equation. x(1 = x)y" =¥ @ . q =X {O ﬁ

Section- 11

o St

Qs @ : St i
i Comipute the inverse Layiwe Transformation of the following. 3 : 3y —--7?«——2}- :(:,)L’A
_ (s? +25+5) )

i (b) Find a positive oot ¢ (" a non linear equation, using Bisection Method.  (8) .
b (NUrneA\q,ipAy\l,u

f(x)=x" —x?=2x+1.

Method to solve. the following initial value  (8)

L 7 B(«/Aj

Q.6. (a) Use the Laplace "l‘mnsl'cJnalinn
Problem. i'ff.-;i - 2‘;")1 = 20¢" cott, y(0)=0=)"(0) .
ct” dt

(b) Find the positive root of the equarion. HHxt-x-3=0 Using (8). -
f . the Regula-Falsi Metho l Nuamex -0 Angl:
‘~Q.7. (a) Tind the positive root 0 “ihe equation. ¢f= 2x + 21 by using Newton's — (8) -b

Kaphson Method with 2y =3 N ]
\un e d fh\:/‘
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B ove the AN A Numerle ©
Prove that A = Ay
. \gu K gllglﬂ'l 7'

Q8. () Find the first three derivatives of fx) from the following table atx = 19 8)

/’lb/m&%‘wﬂ

®

3

sin x . :
J- X dx with r=0 R ;
X e

2

Section- 111

Q9. @ Find the maxirnun value of z=0xt X subject to the Constraints. 9)

2x,+x, S8
4x, +3x, £14

x,x, 20

&)

(b) Minimize z=X,-X,

such that -x +2x, 52

X, +x, 54

x,,%, 23

x,%, 20 " Using simplex method. «‘

Q.10. (a) If A and B arc any two cvents defined in a sample space s, then (9
| PANT) = P - P D)

(b) An integer is chosen at random {rom the first 200 positive intepers. What is the ~ (8)

sen is divisible by 6 or by 87

probability that the intcger cho

(a) 14 and B are two ince pendent events in a sample space S. then show that 9

7 and B are independent. -

i. Aand B are independent. i :
(b)  An event his the probe bility p = /3/{; Find the complete Binomial Distribution 4 (8)

-

for n =75 trials.

Q.12. () A man.draw two balle irom a bag containing 3 white and 5 black batls. If he

receives Rs.’]()’for cv2ry white ballhe draws and Rs.7 for every black ball, find

his expectation.

S R T

(b) Write down the prop : ties of Binomial Distribution.
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